FE12[0PBEFN _FLEAS

TEI—T TuyrE

o NTA=3/4 B7uav/r C7uavr D7 avr
Al £ (L B1 % # F F C C1 77 H D1 7= & ®
A2 Y H B2 L 8B F C C2 75 £ D2 1% 57
A3 1% £ B3 T A N C3 F A DO D3 Ve H
A4 N S P B4 SN T L C4 I - AN D4 759 72




F12[0P00ZZ B — FEAS

¥ 6H2TH(L)FBV—THAT : ZIULMARZ BN IR

K7 Az—h F5 B=—Fh F5
8:30 faEE = (AHERHT)
@l 9:00 | #EWFFC 2 — 3 HAFC B AR 1 — 1 SARFL NSP
@] 9:40 il 2 — 0 AAFC fM 8 — 1 NSP | =7
®| 10:20|#HEFFC 2 — 1 TAR fEr FBFC 5 — 0 /A7 NSP
@| 11:00 |  fL 5 — 2 fEM TAIR W 8 — 0 NSP | SRTV
®| 11:40 | #wFFC 1 — 0 7=2F7L AR L ALEBFC 9 — 0 TR T e
®|12:20 [  fRIL 8 — 0 NSP |[#H@EFFC| WM 4 — 3 #M TR
PR Ca—h T D=t—h T
8:30 feEE < (AEAT)
@ 9:00 [ 7=&> 3 — 0 K ] Ve H 3 — 1 W GRS
@/ 9:40 W 4 — 0 TR FADS 1 — 0  HIHRE WL
@|10:20] 7w&E> 2 — 1 Ve FADD N 1 — 4 W L=
@[ 11:00 HHE 8 — 0 FADD FeH W 0 — 2 WIE WL
®|11:40| 72> 5 — 1 W WOR wH 0 — 2 FEM FADH
®| 12:20| HK 5 — 0 HIHR Lo W 1 — 2 FADD Ve

[(BF—LADEREIR]
X 8R0A FUARICTHRBERZTVET . EF—L1BHEEVEY,

X HAMAM105HIICREI— M OEEZEMOLET (BHLERICEELLEY)
X HAEREITRTIVZUTEMLTYT (ARBL LT EYEEA)

X HERREIERRF105TIZDIE2— /1 \LEEYES (1057 —35—105)

X FITVAREEVERA

X BTERBISTRAZTEFE TS,



¥ 6H2TH(L) PRV —THAT : ZILHARZENT IR

FE12[0PBEFN _FLEAS

ATy BRI R 2] NSP B | 7o | & | B | B | R | 2 | AR
L * O O O 3 0 0 9 15 2 13 1
B 0 @ * O O 2 0 1 6 12 5 7 2
L] 2 @ [ * O 1 0 2 3 13 10 3 3
NSP 0 @ ] ® * 0 0 3 0 1 24 | -23 4

B7 vy ESEFFC HLAFC T K IRAT IV B | 4 | & | B | S| R | & | AL

EHFFC * () O O 2 0 1 6 5 4 1 2

MEEFC 3 O * O O 3 0 0 9 17 2 15 1
T AR 1 @ ® * A 0 1 2 1 2 12 | -10 4
IRAT IV 0 @ ® A * 0 1 2 1 1 7 -6 3

Cruyr R W FADD LS B | o | A | B | S| KR | & | AL
R * O O O 3 0 0 9 17 0 17 1
] 0 @ * [ ® 0 0 3 0 1 8 -7 4

FADD 0 @ O * O 2 0 1 6 3 9 -6 2
AR 0 @ O o ¢ 1 0 2 3 2 6 -4 3

D7 rys b T i H WL B | o | A | B | S| KR | & | AL
7= ¢ O O 3 0 0 9 10 2 8 1
70 K 0 @ * [ o 0 0 3 0 1 9 -8 4
Ve 1 @ O * O 2 0 1 6 6 3 3 2
Wiz 1 @ O o ¢ 1 0 2 3 6 9 -3 3




